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From among the four options given. choose the one which 1s a grammatically correct pair of
sentences.

(1) ‘Every family have a story. welcoming to ours’. These were the word mnscribe on gold
in the sleeve of a big. black photo album that Ananya 1s hold in her hand.

(2) ‘Every families has a story. welcome in ours’. This were the words inscribed with gold
on the sleeves of a big. black photo album that Ananya will be holding by her hand.

(3) ‘Every family had a stories. welcome to our’. These were a words inscribed in golden
on the sleeve of a big. black photo album that Ananyva was hold in her hand.

(4) ‘Every family has a story. welcome to ours’. These were the words inscribed in gold on
the sleeve of a big. black photo album that Ananya was holding in her hand.

(1) 1
(2) 2
(3) 3
(4) 4

Fefefaa 8 3 9 97 =1 I=R T FE A R 7

1 @a (2) Tai
(3) g (4) =78

i }

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11101]
2[Option ID=11102]

3[Option ID=11103]
4[Option ID=11104]

Sl. No.2
QBID:1007152

Which of the following 1s a one-word substitute for “hard but liable to break™

(B Brittle (2) Frail
(3 Tenuous (4) DMNlortal
(1) 1
(2) 2

(3) 3




(4) 4

(1) ke (2) U5
(3)  au (4) ==

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11105]
2[Option ID=11106]

3[Option ID=11107]
4[Option ID=11108]

Sl. No.3
QBID:1007153

“Because of bad weather the mountaineers are in a quandary.”
From the following options pick the correct synonym of the word in italics.
(1) Quiet (2) Panicked

(3) Anxiety {(4) Dilemma

(1) 1
(2) 2
(3) 3
(4) 4

HFH A AT G AW FE T FE B

(1) = (2) 9mE
(3) g (4) wTUEH

11
(2) 2
(3) 3
(4) 4
1[Option ID=11109]
2[Option ID=11110]

3[Option ID=11111]
4[Option ID=11112]

Sl. No.4
QBID:1007154

Which tense 1s used for habitual actions?
(1) Present progressive (2) Simple present

(3) Present perfect (4) Present perfect progressive




(1) 1
(2) 2
(3) 3
(4) 4

Fefetad # 7 wg a0t e 75 g

(1) SR 2) i
(3)  FTHEI (4)  TFFAH
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11113]
2[Option ID=11114]
3[Option ID=11115]
4[Option ID=11116]

Sl. No.5
QBID:1007155

Match List I waith List IT.

List I List IT
(Word) {(antonym)
(A) tardy (I}  warm
(B) wvalidate (II) nervous
(C) tepid (III) refute
(D)  unruffled (IV) prompt

Choose the correct anawer from the options given below :

(1) {A)-(III). (B)-(IV). (C)-(D). (D)-(II)
(2) (A)-(IV). (B)-(II). (C)-(I). (D)-(I1T)
(3) (A)-(III), (B)-(IV). (C)-(ID). (D)y-(I)
(4) {(A)-(IV). (B)-(IIL). (C)-(I). (D)-(1I)

(1) 1
(2) 2
3) 3
(4) 4




Ffeatag S+ s9aE vd 98 F9 5 e

(A)  WHE A By FEGET 6 HT

®) Tt = g o, F et

(C) 7 & UM soAfavaTE [ =R [ wifer
D) =4 =TT TE

(E) #ft #7 s w1 w72 2 artee ek

4= fgu o fawea 4 O gE I w1 999 Fifeu

(1) (A). (E). (C). (B). (D)
(2) (A). (B). (D). (E). (C)
3 (B). (C), (E), (D). (A)
(4) (C). (D). (B). (A). (E)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11117]
2[Option ID=11118]

3[Option ID=11119]
4[Option ID=11120]

Sl. No.6
QBID:1007156

Pick out the correctly spelt word

(1) prenunciation (2)
(3) prunniciation (4)
(1) 1
(2) 2
(3) 3

(4) 4

pronanclation

pronunclation




Hr 51 FYF for T : vF ATYHYA (Assertion (A)) % 9 ¥ fafigd # a7 g8 386 FAW (Reasons (R))

HEGH
HTHE (A) Tl G S 2 A1 T Hiars whi S SH SehE 619 9 ug) e 2
FE7 (R) FHFAT HIT I GEER FES A H WY Fa & o T 96T SR o S 2

I HYA + AT H, Fi9 5 T e § 9 58 39 0 =999 it

(1)  (A) 3 (R) TH O3 & 11 (R), (A) Fi H&l =men 2

(@ (A 3 (R)FE A 7, @ (R), (A) F = =wen 765 2
3  (A)F &, 9 (R) 78 2

4) (A ¥Ee 2, S (R) 2

1)1
(2) 2
(3) 3
4) 4
1[Option ID=11121]
2[Option ID=11122]

3[Option ID=11123]
4[Option ID=11124]

Sl. No.7
QBID:1007157

From among the four options given. choose the most appropriate sequence for the four
phrases given below. to make a meaningful sentence

(A) by chance

(B) the occurrence of something pleasant
(C) that happens unexpectedly or
(D) the word serendipity means

Choose the correct answer from the options given below :

(1) (C). (A). (B). (D)
(2) (B). (D). (A). (C)
(3) (D). (B). (C). (A4)
(4) (A). (C). (D). (B)




(3) 3

(4) 4

Ffafad 4 @ < wg a9 fofea fifsw
(A) T T g aed a2

(B) Al 99 F 9o 9 B

(C) il =& § wed) e 2|

(D) ®a ° wd 9yd i 331 AT |

(E) S 9T g 99H Sl 31 AT

= Teu U fEHedl § O O I F 999 i

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

A (A) 3 (B)
Fae (C) #1 (E)
Fad (A) 3R (D)
“as (B) 3R (D)

1[Option ID=11125]
2[Option ID=11126]
3[Option ID=11127]
4[Option ID=11128]

Sl. No.8

QBID:1007158

Identify the correct form of indirect speech of the following sentence.

The magistrate said to the lawyer. “You should submit yvour evidence now".

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

The magistrate asked the lawyer to submit his evidence then.
The magistrate told the lawver that he should submit his evidence then.
The magistrate told the lawyer that he must submit his evidence now.

The lawver requested the magistrate to subnut his evidence then.




S e S e o e e B

(1) =l (2) oTaH

(3) =W 4 fog

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11129]
2[Option ID=11130]

3[Option ID=11131]
4[Option ID=11132]

Sl. No.9
QBID:1007159

Choose the correct option to make a meaningful sentence.

Ashok did not that his friends would desert him when he would need them the
most.
(1) Assent (2) Accept
(3) Except {(4) Expect
(1) 1
(2) 2
(3) 3
(4) 4
i1 % =g g=-I1 =1 T =it
-1 11
Ei THEETE
A) == M =i
(B) 94 (IT) =Ar=nre
(C) o=. (IIT) e
(D) =3fem (IV) ===
4= fgu o fgweai 4 O uE I W 999 fifen

(1) (A)-aID), (B)-ID). (C)-aV). (D)-I)
2y  (A)-AV). (B)-(IID), (C)-(I), (D)-(II)
(3) (A1), (B)-ID. (CO)-(III). (D)-(IV)
4y (A)-dD. (B)-(D. (C)-(IV). (D)-IID)

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=11133]
2[Option ID=11134]
3[Option ID=11135]
4[Option ID=11136]

Sl. No.10
QBID:1007160

Choose the correct passive voice of the following sentence.
People say that children are afraid of ghosts.
(1) It has been said that children are afraid of ghosts.
(2) It 1s believed that children are afraid of zhosts.
(3) It 1= often said ghosts are afraid of children.
(4) It 1s said that children are afraid of ghosts.

1)1

(2) 2

(3) 3
(4) 4

Frefetias @ @ SERitEAT 9E=T

(A) T = G I

(B)  TI'E H HIE 9T

(C) =i =4 4 54 @

(D)  diefi St | A8 Heera

(E) M WA

Fra fou o famweat @ O oF I w1 9= Fifse

(1) a4 (A). (B) @R (E)
(2)  FaEa (B). (C) 3k (D)
(3)  Fad (A). (C) 3 (D)
@) ¥4 (A). (D) 3 (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11137]
2[Option ID=11138]

3[Option ID=11139]
4[Option ID=11140]

Sl. No.11
QBID:1007161




What was the name of the constituency wherefrom Jawaharlal Nehru won Lok Shabha
election thrice?

(1) Allahabad (2) Raebareli
(3) Phulpur (4) Barabanki

(1) 1
(2) 2
(3) 3
(4) 4

TEATEET AFE A SE-AE | AR S g4 A1 4R A 47

(1)  someEmR (2)  TEEE
(3) FAX (4) =HEH

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11141]
2[Option ID=11142]

3[Option ID=11143]
4[Option ID=11144]

Sl. No.12
QBID:1007162

The National Achievement Survey (NAS) in its 2021 survey stated that the national mean
score in English has :
(1) mmproved by 24 marks
(2) decreased by 56 marks
(3) has remained the same as that of the previous vear
(4) mmproved marginally
(1) 1
(2) 2

(3) 3
(4) 4

T SuEley HAEY (WR.0wE, ) 4 S 2021 % "0 § S 46 SUE § T8 5 HE -

(1) 24 37 9 =57 T 2| (2) 56 37F 92 T &
(3) Tuzs 99 % 9uE # 7 (4) =r=T e R
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=11145]
2[Option ID=11146]
3[Option ID=11147]
4[Option ID=11148]

Sl. No.13
QBID:1007163

Swedish film director Ruben Ostlund won Palme d'Or for his film titled :

(1) The Triangular Mountain {(2) Triangle in Square

(3) Triangle of Sadness (4) Tnangle of Joy

(1) 1
(2) 2
(3) 3
(4) 4

=iz % 5" oo =e4 sAze-s 4 w1 78 T5en + v W 13 917 (Palmed'or) THRE @1 7

(1) T 2R HI5-2A (2) ZEEATA 3
(3)  TIEUATE ATE d=AH (4) ZTETATA SATF Aie
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11149]
2[Option ID=11150]
3[Option ID=11151]
4[Option ID=11152]

Sl. No.14
QBID:1007164

What is done to mask an Aadhaar Number?

(1) Replace the first four and the last four digits with characters.
(2) Replace the last eight digits with characters.

(3) Replace the first eight digits with characters.

(4) Replace the six middle digits with characters.

(1) 1
(2) 2
(3) 3
(4) 4




AT HEA T99H % few == o =i 27

(2)  AfE A FH B AW H AGEANGT F A A= 2
(3) UEel 33 W1 F I O WiGEeniea K 5 S 2
(4)  OET F T FF H A WG T e 2

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11153]
2[Option ID=11154]

3[Option ID=11155]
4[Option ID=11156]

Sl. No.15
QBID:1007165

Which organization has won Nobel Prize three times?

(1) European Union
(2) International Red Cross Society
(3) United Nations

(4) National Dialogue Quartet

(1) 1
(2) 2
(3) 3
(4) 4

(1) 7= ==

(2)  HAGEEE 15 wE AEEd
(3) HIE T

(4 ™ =99 T4

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=11157]
2[Option ID=11158]
3[Option ID=11159]
4[Option ID=11160]

Sl. No.16
QBID:1007166

Film Directors work hard and get exhausted. Prakash hates exhaustion and hence. Prakash
does not want to be a film director.

Which one of the following has the opposite logic?

(1) People who go for walk are healthy. I do not want to go for walk and I am not healthy.

(2) Politicians are generally talkative. but I am not so. though I am a politician. not by my
choice.
(3) A Soldier's life 1s full of dangers. but military 1s never short of manpower.

(4) There 1s no substitute for hard work.

(1) 1
(2) 2
(3) 3
(4) 4

Ton e 31 Hed a2 A 9 W 7| TR e H O Al B S SEeT, T (e e 6
AT =TEAT 2

i~ i~ ,z-\r 'Ei"‘ﬁ'f.:l_‘h O ."l: l‘r~ qu':l%?

(1) =7 & Z8eH 9 7 F T 7 21 # ZeeH Tl S oEal SR # = 6 R

(2) TS S HEE: S B 7, o o U TE 7| BetE | OeEias &, WA T A s
o ==

(3) U Ulw =1 SEd @Al ° 9 26l B, A 5§ B w0 Al il w1 A8 2|
(4)  ofsm =1 FE A T8 2

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11161]

2[Option ID=11162]

3[Option ID=11163]
4[Option ID=11164]

Sl. No.17
QBID:1007167




A man walks 6 km towards the North. then turns towards his left and walks for 4 km. He
again turns left and walks for 6 km. At this point he turns to his mght and walks for 6 km.
How many km and in what direction is he from starting point?

(1) 10 km and West (2) 6 km and South
(3} 4 km and South (4) 8 km and West

(1) 1
(2) 2
(3) 3
(4) 4

uF FEHt I F AR 6 T T | 30 9 9 96 9N ge 4 el aea 21 9w e a e g 2
3R 6 Tt =iar 2| @@ 97 T ga1 2 R 6 TRt T 2| 97 @ TeE fag ° et o 2 o

i~

T HEY

(1) 10 Tt 3 afv=m (2) 6 Tl 37 =tam
(3) 4 Tt wilT ofeqm (4) 8 Tt =7 ufram
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11165]
2[Option ID=11166]
3[Option ID=11167]
4[Option ID=11168]

Sl. No.18
QBID:1007168

A.B. C. D. E. F and G are sitting in a line facing the East. C 1s the immediate right of D. B is
at an extreme end and has E as his neighbor. G is between E and F. D 1s sitting third from
the South end. Who are the persons sitting at the extreme ends?

(1) Aand E 2y AandB
(3) Fand B (d) CandD
(1) 1
(2) 2
(3) 3

(4) 4




A B.C.D.E.F 3R G Wa # foon d 4z %% v o 4 93 2| D % o= aifed C 31 B v sAf=m
W 7 At E 39%1 9=l 21 E A F & o9 5 G 21 D gianl il 9§ =@ 9 s 2| At 5w we
AR WS £ 7

(1) A3RE (2) A3RB
(3) F 3 B (4 C3RD

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11169]
2[Option ID=11170]

3[Option ID=11171]
4[Option ID=11172]

Sl No.19
QBID:1007169

In the question statement and assumptions are given. Consider the statement and choose the
correct option on the basis of the assumptions.

Statement : The budget of Transport Corporation 1s in deficit. The Corporation has decided
to increase the ticket rates for travel.

Assumptions : (1) The travel rates are verv low.

(11) If the travel rates are not increased. deficit cannot be met.

(1) Only assumption (1) 18 impheit.
(2) Only assumption (1) 15 implicit.
(3) Both assumptions (1) and (11) are impheit.
(4) Neither assumption (1) nor (1) 1s implicit.
1)1
(2) 2
(3) 3

(4) 4




= U § T 3R qEI-9WO 4 5% 3| 9T W EER FF H-gRE F IR W ¥E =EeT # 99
rﬁlr;:”.\l

7 qftasd e = w9 g | 21| Fm S A # o fewe-ow 1 gfg # ol fen 2
TE-UEOW (1) I A aRd 74

(i) e A= # gy 7 A A, d g A
(1) e qE-awm (1) F st 2
(2)  hael TH-9EI (ii) F I 2
(3) = - (1) 3R (D) Tt 2
@) AT gE-aEm ) A A (i) -
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=11173]
2[Option ID=11174]
3[Option ID=11175]
4[Option ID=11176]

Sl. No.20
QBID:1007170

Ram said to Ashok that the woman standing in front of him has a grand daughter who 1s the
only daughter of myv brother. How 1= woman related to Ram?

(1) Aunt {2y Mother

(3) Wife (4) Grand Mother
(1) 1

(2) 2

(3) 3
(4) 4

T 4 FE § FE F IHF G0 @S0 OiEe # UF 9id) 2 A 9 9IS i Sheldl 591 2| 39 Higdl &1 09 9
T T 7Y

(1) == (2) =T
(3)  ue (4) =
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=11177]
2[Option ID=11178]
3[Option ID=11179]
4[Option ID=11180]

Sl. No.21
QBID:1007171

A tube can fill a tank completely in 18 hours. After half the tank 1s filled. one more similar
tube 1s opened. What 1s the total time taken to fill the tank completely?

(1) 13 hrs 10 min (2) 14 hrs 30 min
(3) 14 hrs 20 min (4) 13 hrs 30 min

(1) 1
(2) 2
(3) 3
(4) 4

wF Fofl UF FF B gAd: 18 02l W WAl 2| FF F AT W A % UTEI, TEF S UE 6 el |
&t | 9 BT WA | o Fel a9 T 2

(1) 13 92 10 fo9e (2) 14 92 30 {52

(3) 14 92 20 e (4) 1392 30 A=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11181]
2[Option ID=11182]

3[Option ID=11183]
4[Option ID=11184]

Sl. No.22
QBID:1007172

Seven girls can do a piece of work in thirteen days. six boys can do the same piece of work in
twelve davs. nine men can do the same pilece of work in nine davs and six women can do the
same piece of work in fourteen days. Who are the most efficient?

(1) Girls (2) Women
(3) MMen {(4) Boys
(1) 1

(2) 2

(3) 3

(4) 4




7 SSta1 T % i 13 o7 § % whdl £ 6 w75 361 FE i 12 709 3 % W £ 9 7FY 3H1 FE w9
e g qun 6 gisene 36t F i 14 57 0 92 Ghdl 21 FIF g9d 53 77

(1) === (2) HlEem
(3) (4) =%
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11185]
2[Option ID=11186]
3[Option ID=11187]
4[Option ID=11188]

Sl. No.23
QBID:1007173

A man and a boy received Rs. 1.600 as wages for 5 days for the work they did together. The
man's efficiency in the work was three times that of the boy. What are the daily wages of the
boy?

(1) Rs. 152 (2) Ra 112
(3) Rs. 88 (4) Rs. 80

(1) 1
(2) 2
(3) 3
(4) 4

TF FAfE AU OF FSH UF @Y 5 o7 FE FH F o g9gh €. 1,600 96 7| SA0E 2@d 95 | 7 =
oft| =5 it ufareT =1 Tl 27

(1) E, 152 2y = 112

(3) %, B8 (4) =% 80

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11189]
2[Option ID=11190]

3[Option ID=11191]
4[Option ID=11192]

Sl. No.24
QBID:1007174




How many kg of rice at Rs. 60 per kg. must be mixed with 30 kg of rice at Rs. 25 per kg. so
that the shopkeeper may make a gain 25% on selling the mixture at Rs. 50 per kg?

(1) 22.5 ke (2) 23.5kg
(3) 24 kg (4) 245kg
(1) 1
(2) 2

(3) 3
(4) 4

30 T, =mae %, 25 WiaERan, 95 30 T =Eel WY s, 60 WA 9 e T =EE e o
TFFGR Y F1 F, 50 W R A= W 25% F A o 0

(1) 22.5 T (2)  23.5 FFm

(3) 24 T (4) 24.5 TFm

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=11193]
2[Option ID=11194]

3[Option ID=11195]
4[Option ID=11196]

Sl. No.25
QBID:1007175

A sample of X litres from a container having a 60 hitre mixture of milk and water containing
milk and water in the ratio of 2 : 3 1s replaced with pure milk so that the container will have
milk and water 1s equal proportions. What 1s the value of X?

(1) 6 litre (2) 10 hitre
(3) 30 litre (4) 12 hIitre

(1) 1
(2) 2
(3) 3
(4) 4

U G A 2 1 3 % A A WiE gu a9 9 % 60 witer Weaw # ¥ X ofiex 1 uh A, ug g9 @ 9
oo T A SR A g9 3 O IEE A9 A w1 X F A = a e

(1) 6 et (2) 10 ==
(3) 30 = (4) 12 =
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=11197]
2[Option ID=11198]
3[Option ID=11199]
4[Option ID=11200]

Sl. No.26
QBID:1020001

Sherlock Holmes was a character in the novels of which of the following authors

(1) Sir Arthur Canon Doyle (2) Agatha Christie
(3) Perry Mason (4) Vietor Hugo

(1) 1
(2) 2
(3) 3
(4) 4

“STeAteh e freTifha 4 & foFg ST F TTIE HI T B 7
(1) =1 37 &= =iEe (2) e e
(3) A (4) et et

1)1
(2) 2
3) 3
4) 4
1[Option ID=9901]
2[Option ID=9902]

3[Option ID=9903]
4[Option ID=9904]

Sl. No.27
QBID:1020002

Which technique is used for the examination of glass evidence?

(1) Glass Microscopy (2) Glass Refractive Index Measurement
(3) Glass Pyrolytic Gas Chromatography (4) Glass Electroanalytical Measurement
(1) 1

(2) 2

(3) 3
(4) 4




(1) F - Htﬂ?‘fﬁ’ﬁr (2)  =HE - FIFAATE - HIH

(3)  Fla IEEATEEF T FHEEETH (4)  =FT= Tl TARCATAEZFA T
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9905]
2[Option ID=9906]
3[Option ID=9907]
4[Option ID=9908]

Sl. No.28
QBID:1020003

While sketching a scene of occurrance, direction with the help of compass should be found out

and marked by an arrow head. Usually this arrow head indicates which of the following

direction?

(1) North (2) East

(3) West (4) South

1)1

(2) 2

(3) 3

4) 4

Tl Tz Toe % T9a W o 9 & %e 4 g i geEar @ fn we e S et aw o

7 o oo fafed = 9 91fET) S 56 91 % 90 | et § | e G w6 st e e E

(1) I (2) =
(3)  div=m (4) wtem
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9909]
2[Option ID=9910]
3[Option ID=9911]
4[Option ID=9912]

Sl. No.29
QBID:1020004




Match List T with List IT :

List I List IT
(A) Anachronism (I) writings of similar period
(B) Contemporary writings (II) not in alignment with time
(C) Anonvmous writings (ITT) origin of paper
(D) Water marks (IV) author of writing 1s unknown

Choose the correct answer from the options given below :

(1) (A)-(IID). (B)-(II). (C)-(IV). (D)-(I)
(2) (A)-(IT). (B)-(I). (C)-(IV). (D)-(1IT)
(3) (A)-(I). (B)-(III). (C)~(IL). (D)-(IV)
(4) (A)-(I). (B)-(IV). (C)-(II). (D)-(IT)

(1) 1

(2) 2

(3) 3

(4) 4

T-1 % w1 g-11 e Fifw

=11 -1

(A) FET (I) o9[ @&y % =g
(B) ATFAH whE (I) =93 F =19 FA=H 740
(C) 79 wiEA (III) =rTa i I
(D) == == (IV) =T 1 9EF 39 2
49 f5u o e § H H9A 39 F 999 i

(1) (A)-(IID). (B)-(1I). (Cy-(IV). (D)-(I)
(2) (A)-(ID). (B)-(I). (C)-(IV). (D)-(IIT)
(3) (A)-(D). (B)-(IIL). (C)-(IL). (D)-(IV)
(4) (A)-(T). (B)-(IV). (C)-(IID). (D)-(IT)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9913]
2[Option ID=9914]

3[Option ID=9915]
4[Option ID=9916]

Sl. No.30
QBID:1020005




Guided-hand writing is also known as which of the following

(1) Skilled writing (2) Assisted writing
(3) Forged writing (4) Simulated writing

(1) 1
(2) 2
(3) 3
(4) 4
o =g 1 G § " 9 =5 Al A6l A
()  Fo= =EA (2) T T
(3)  Fearad ohEA (4) FFT A
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9917]
2[Option ID=9918]

3[Option ID=9919]
4[Option ID=9920]

Sl. No.31
QBID:1020006

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  Any surface on which something is written in any form conveyving some
message can be said as document.

Reason (R) : Paper 1s the most common surface used to make a document.

In the hight of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true but (R) 13 WOT the correct explanation of (A)
(3) (A) 1= true but (R) 1s false

(4) (A) 12 false but (R) is true

(1) 1

(2) 2

(3) 3
(4) 4




o

H= o1 FeA T T w9 (Assertion (A)) F F9 # fof@a 2 ° 550 39F FAW (Reason (R))
FETH

ATFAE (A) : “HiE ff 72 (T9w) | m T off =0 0 F9 6 o we # o 9w wE a9sm A g,
E'IE‘@EH ]II | 'I;n':;l‘l:i“

F (R) FOTS GEH ATIH WE Y 2 T SUE e (SR s R S 2
IO FUA F AR 9, A= 150 T fTwet § 6 WAl 3T ) 99 iy

(1) (A) 317 (R) =F1 O3 & #11 (R), (A) Fl T1 =amen &
(2) (A) 3T (R) TF1 Ocd 7, =it (R), (A) #1 981 =20 741 2

(3) (A) T=a 2, =4 (R) 2759 7

(4) (A) 338 2, =94 (R) 93 &

1)1
(2) 2
3) 3
(4) 4
1[Option ID=9921]
2[Option ID=9922]

3[Option ID=9923]
4[Option ID=9924]

Sl. No.32
QBID:1020007

Blobbing can be found in writings written with which of the following writing instruments

(1) Fountain pen (2) Ball point pen
(3) Roller pen (4) Sketch pen

(1) 1
(2) 2
(3) 3
(4) 4

= F N M e w v - - Fi rooe rr 5 %n
gesTth oiiE [_'!f:“1ll'51‘I}I AR H O TR g 395070 ﬁ [o1@lls H USHd &1 OFdl & ¢

(1) @AM (2) e =S
(3) TR (4) =a T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9925]
2[Option ID=9926]




3[Option ID=9927]
4[Option ID=9928]

Sl. No.33
QBID:1020008

Match List I with List I ;

List [

(A)  Micellar Electrokinetic (1)
Chromatography (MEKC)

(B) Gas chromatography (GC)

(C) High thin
chromatography (MPTLC)

performance layer

(D) Gel chromatography

List I1

Example of planar chromatography

(ITy Use for separation of macromolecules

(IIT) Example of electrophoresis

(TV) Best for volatile samples

Choose the correct answer from the options given below :

(1) (A)-(ID), (B)-(IV), (C)-(I1I), (D)-(T)
(2) (A)-(IV), (B)-(I). (C)-(11), (D)-(11I)
(3) (A)-(I1D), (B)-(IV), (C)-(D). (D)-(I)
(4) (A)-(IT), (B)-(IV). (C)-(I), (D)-(11I)

(1) 1
(2) 2
(3) 3
(4) 4
Ii-1 % @ -1 #1 foem Fifaw
EER!
(A) HiHeT seFZEEEE HEZETE (U § % o)
(B) & iz (S =)
(C) 716 WEmH 199 @ mezmrd (v 9t &
T Hi)
(D) e FHIETR

49 fou v fawed § | H9E I F 99 i

(1) (A)-(ID. (B)-(IV). (C)-(I1D). (D)-(D)
(2) (A)-(IV). (B)-(I). (C)-(II). (D)-(IIT)
(3) (A)-(IIL). (B)-(IV). (C)-(I). (D)~(II)

(4) (A)-(IT). (B)-(IV). (C)-(I). (D)-(1IT)

gHi-1I

@) HHaeE (AR FEZ 35

(II) H&w A F g9 & o TG

(III) =ga =01 F=er F1 5

'I:]-—"'T} a I E:I:- PlE - J."frl -T::H_, ~$qqu;. Fi




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9929]
2[Option ID=9930]

3[Option ID=9931]
4[Option ID=9932]

Sl. No.34
QBID:1020009

Casting kit is used for the identification and collection of

(1) Paint (2) Firearms
(3) Footprint (4) Blood

(1) 1
(2) 2
(3) 3
(4) 4

o= e =1 suam efafas 5 o e = e ot vwhE w9 O T s 27

(I)y w=u (2) IR
(3) W= (4) T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9933]
2[Option ID=9934]
3[Option ID=9935]
4[Option ID=9936]

Sl. No.35
QBID:1020010

Which instrument is coupled with SEM?

(1) Energy Dispersive X-ray Spectrometer (2) Energy Differentiate Spectrometer
(3) Energy Disserting Spectrometer (4) Elusion X-Ray Diffractometer

(1) 1

(2) 2

(3) 3

(4) 4




freaferfiam % 3 = o v € v (SEM) F = 2ffem 2 27

(1) U= e uwe -1 Tz (2) TS TewuE Tz
(3) v femtdn oEzHe (4) TgEH -1 [ShHT
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9937]
2[Option ID=9938]
3[Option ID=9939]
4[Option ID=9940]

Sl. No.36
QBID:1020011

Fire debris is packed in
(1) (7lass Vial (2) Metal Cans

(3) Plastic Bag (4) Cardboard box

(1) 1
(2) 2
(3) 3
(4) 4

AT e H1 F=wa 8 9 THEd g5l a2 7

(1) M= AEAH (2) g i feea |
(3) I A A o (4) FredE F w94 °
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9941]
2[Option ID=9942]
3[Option ID=9943]
4[Option ID=9944]

Sl. No.37
QBID:1020012

Which of the following is a synthetic fibre?

(1) Shahtoosh (2) Nylon
(3) Mohair (4) Angora
(1) 1

(2) 2




(3) 3
(4) 4

Tt 5 & i T AT o R 7

(1) BEGH (2) TEEH

(3) = (4) P

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9945]
2[Option ID=9946]

3[Option ID=9947]
4[Option ID=9948]

Sl. No.38
QBID:1020013

For the examination of diatoms, samples should be collected preferably from

(1) Blood (2) Bone marrow
(3) Hair (4) Skin

(1) 1

(2) 2

3) 3

(4) 4

SHEH & TE B A T ° E Tiaee (59T ) Fehied e S =i

(1) s (2) =i g=a
(3) oA (4) ==

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9949]
2[Option ID=9950]
3[Option ID=9951]
4[Option ID=9952]

Sl. No.39
QBID:1020014

The alkaloids berberine and protopine are obtained from which of the following

(1) Lathyrus sativus (2) Amanita muscaria

(3) Argemone mexicana (4) Stigmata maydis




(1) 1
(2) 2
(3) 3
(4) 4

UeehellUg @aie 3 Wierega Frafefaa 4 @ feod ym 8@ &7
(1) e dfegm (2) Ifer gehfen
(3)  amdtaE afFawmmn (4) femme ofem

1)1
(2) 2
3) 3
(4) 4
1[Option ID=9953]
2[Option ID=9954]

3[Option ID=9955]
4[Option ID=9956]

Sl. No.40
QBID:1020015

Birefringent materals can be visualized using

(1) Streozoom microscope (2) Comparison microscope
(3) Fluorescence microscope (4) Polarizing microscope
(1) 1

(2) 2

(3) 3

(4) 4

Tr=ita & @ e T w0 g Fuad 95 S S Hha 2 ¢

(1)  fearm gawse (2) TTHE FEAEGE

(3)  Uiddife gamest (4)  gAw gEEEE (T mEEEE)
1) 1

(2) 2

3) 3

(4) 4

1[Option ID=9957]
2[Option ID=9958]
3[Option ID=9959]
4[Option ID=9960]

Sl. No.41
QBID:1020016




Which of the following light 1s used in the Fluorescence microscope?

(1) Visible light (2)
(3) UV light (4)

(1) 1
(2) 2
(3) 3
(4) 4

(1)  Z799H T=m (2)
(3) eI W (4)
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=9961]
2[Option ID=9962]
3[Option ID=9963]
4[Option ID=9964]

IR light
Near IR Light

27

it GEaazi § F=Tihd 8 § F =1 T T4 w2

HiTh TR

ST 370 U190

Sl. No.42
QBID:1020017

Sculpturing of the pollen refers to

(1) Opening of the pollen
(2) Pattern on the pollen surface
(3) Arrangement of the apertures on the pollen

(4) Dispersal pattern of pollen

(1) 1
(2) 2
(3) 3
(4) 4

T GE 1 aedd A § H e 27
(1) W IEEE o

(2) W 9E W UiqET (T) o

(3) W W E EEE

'[4:' T "'a' ':f-'”r‘_“ ﬂil‘:‘q I’[




1[Option ID=9965]
2[Option ID=9966]
3[Option ID=9967]
4[Option ID=9968]

Sl. No.43
QBID:1020018

Which of the following extraction method is used for the extraction of diatoms from viscera?

(1) Solvent extraction (2) Dry ashing
(3) Distillation (4) Acid digestion

1) 1
(2) 2
(3) 3
(4) 4

i (femm) & 2rren & frewdm & fou vy frendo fafa 2 .

() foemrs fremm (2) =5 7@
(3)  HEEA (4) 37t OT=A

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=9969]
2[Option ID=9970]

3[Option ID=9971]
4[Option ID=9972]

Sl. No.44
QBID:1020019

Commassie Blue dye is used for the staining of

(1) DNA (2) Proteins

(3) RNA (4) Carbohydrates
(1) 1
(2) 2
(3) 3
(4) 4

Sy

FHH! AT T3 F TEE R 3 ¥ EE A & o e e 2

(1) DNA (2) WA
(3) RNA (4) =FETEESE
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=9973]
2[Option ID=9974]
3[Option ID=9975]
4[Option ID=9976]

Sl. No.45
QBID:1020020

Identify the universal detector in Gas chromatograph

() FID (2) NPD
(3)  ECD (4 TCD

(1) 1
(2) 2
(3) 3
(4) 4

T qUE H AEEEE SEEE F Helihd S

(1) FID (2 NPD
(3) ECD 4y TCD
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9977]

2[Option ID=9978]

3[Option ID=9979]
4[Option ID=9980]

Sl. No.46
QBID:1020021

Lindlar's catalyst 1s used for reduction of

(1) alkynes to alkenes (2) alkene to alkane

(3) alkane to alecohol (4) aldehyde to carboxylic acid
(1) 1
(2) 2
(3) 3

(4) 4




(= & 30 1 Y40 HoAra 8 o 66 S99 & o B S 2 7

(1)  UoE § UehE | (2) USEH H U |

(3)  Urehd § IohlEe H (4) TUFEEES H FEFAEE 75 o
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9981]
2[Option ID=9982]
3[Option ID=9983]
4[Option ID=9984]

Sl. No.47
QBID:1020022

Which instrumental technique is best suited for the determination of metallic poison?

(1) GC (2) AAS

(3) Distillation (4) Solvent extraction
(1) 1
(2) 2
(3) 3
(4) 4

frtferfiam & & s o e wfufy am fas % futo & fou waifus 393w 27

() S (2) Tuwg
(3) 3TEEA (4) faemaes fremdo

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9985]
2[Option ID=9986]

3[Option ID=9987]
4[Option ID=9988]

Sl. No.48
QBID:1020023

The hybridization of 8 atom in SOz will be?

ra

(1) sp (2)

i
o

(3) sp? (4) spt

1)1




(2) 2
(3) 3
(4) 4

TeF SEFESS (S02) T ToF TH (S UZH) = T 5

(]

j—t
e
iy}

b=
[~
7]

=

(3)  sp? 4) sp*

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9989]
2[Option ID=9990]

3[Option ID=9991]
4[Option ID=9992]

Sl. No.49
QBID:1020024

Acrodynia is seen in the poisoning of

(1) Mercury (2)  Phenol
(3) Lead (4)  Arsenic
(1)
(2)

(3)
(4)

frrifera & @ Tk famenas o werefen sess 2 27

A W N =

(1)  9mg (Wehil) (2) HATA
(3) = () (4) sl

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9993]
2[Option ID=9994]

3[Option ID=9995]
4[Option ID=9996]

Sl. No.50
QBID:1020025




Nature of sea snake venom is

(1) Haemotoxin (2) Neurotoxin
(3) Mycotoxin (4) Myotoxin
(1) 1

(2) 2

(3) 3

(4) 4

amfes ot fay 6 vl ot 2
() = smfay (2) = sl
(3)  Haehifd amfed (4) st snfes

(1)
(2)
(3)
(4)

A W N =

1[Option ID=9997]
2[Option ID=9998]
3[Option ID=9999]
4[Option ID=10000]

Sl. No.51
QBID:1020026

Barbiturates drugs act on which receptor?

(1) NADM receptor (2) Insulin receptor
(3) GABA-A Receptor (4) Cytochrom b

(1) 1
(2) 2
(3) 3
(4) 4

aifegie swfy-freifea 4 4 form ol = +ifE 2 27

() U I (2) sgfem aE

(3)  meI-v wé (4) @M
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10001]
2[Option ID=10002]

3[Option ID=10003]
4[Option ID=10004]

Sl. No.52




QBID:1020027

The electronic configuration 1s? 2s? 2p® 3s® 3p® 43! stands for which alkali metal

(1) Li (2) Na
(3) K (49 Rb

(1) 1
(2) 2
(3) 3
(4) 4

T g 152 222 2p6 352 3pb 4el Hfeiigd H | =68 41 o1 I et 7 ¢

(1) La {2) Na
(3) K {4y Eb

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10005]
2[Option ID=10006]

3[Option ID=10007]
4[Option ID=10008]

Sl. No.53
QBID:1020028

Which one of the following is the least sensitive detector to be coupled with HPLC

(1) FLC (2) EcD
(3) uv (1) MS
(1) 1
(2) 2
(3) 3
(4) 4

frferfiga # @ < @1 w3 i e 6 % @1y gfma 2 aren e g9ed feae 27

(1) % A Ht (2 st
3 g (1) wHUE

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10009]
2[Option ID=10010]

3[Option ID=10011]
4[Option ID=10012]

Sl. No.54
QBID:1020029




Creatinine test is used for the presence of

(1) Blood (2) Urine
(3) Semen (4) Saliva

(1) 1
(2) 2
(3) 3
(4) 4

frufein wham =1 war Freifea 9 & frad sofeufs 4 2 27

1 (2 T
(3 o= (1) ®m

1)1
(2) 2
(3) 3
4) 4
1[Option ID=10013]
2[Option ID=10014]

3[Option ID=10015]
4[Option ID=10016]

Sl. No.55
QBID:1020030

Which one of the following is not correct for lanugo hairs?

(1) Poorly pigmented (2) Thin and =oft

(3) Rarely medulated (4) Complex scale pattern

(1)
(2)
(3)
(4)

A W N =

Freaforfian & & e g % He § e 2

(1)  =o=1 9uiiea (2)
(3)  FH FUR GeATE (4)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10017]
2[Option ID=10018]
3[Option ID=10019]
4[Option ID=10020]

@ sy

afte

Sl. No.56
QBID:1020031




The most frequent fingerprint pattern in any population is

(1) Twin loop (2) True whorl
(3) Plain arch (4) Loop

(1)
(2)
3)
(4)

A W N =

TRt ofi SEE | wEE W ATEsE THET ?
(1) T T (2) ¥ 99T
(3) TEFET =9 (4) "=

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10021]

2[Option ID=10022]

3[Option ID=10023]
4[Option ID=10024]

Sl. No.57
QBID:1020032

Match List I with List I1

List I List IT
Name of scientist PhD awarded by
(A) Max Planck (I}  University of Vienna
(B) Erwin Schridinger (II) University of Copenhogen
(C) Swvante Arrhenius (IIT) University of Munich
(D)  Niels Bohr (IV) University of Uppsala

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(IID), (C)-(D), (D)-(T)
(2) (A)-(I1D), (B)-(1I), (C)-(IV), (D)-(T)
(3) (A)-(ID), (B)-(IV), (C)-(11D), (D)-(D)
(4) (A)-(I11), (B)-(1), (C)-(IV), (D)-(1T)

(1) 1
(2) 2
(3) 3
(4) 4




TA1-1 % =0 -1 =1 T5er Fie

F=-11

& § PhD ¥@mE 3

TI-T
(A) HIH i (I) T Tavataamem
(B) 3 #ifsr (ID) =reee favar
(C) =T wRfE=E (ITT) =g favatarem
(D) iew = (IV) Ivmen favafaaea
4= feu v faFed ° § 98 I 1 99 S

(1) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(2) (A)-(ITI). (B)~(II), (C)-(IV). (D)-(I)
(3) (A)-(II). (B)-(IV). (C)-(III). (D)-(I)
(4) (A)-(IIT). (B)-(I). (C)«(IV). (D)-(ID)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10025]
2[Option ID=10026]

3[Option ID=10027]
4[Option ID=10028]

Sl. No.58
QBID:1020033

Settling of the blood to the lower parts of the body after death is called

(1) Rigor mortis (2) Algor mortis

(3) Livor mortis (4) Sedimentation

(1) 1
(2) 2
(3) 3
(4) 4

Teg % IWE IRR F A S ° T H A5 Faelml 7

(1)  73= Fia=4 (2) UFIR "
(3)  wtam e (AEm Oieg) (4) wF=ETE
1) 1

(2) 2

(3) 3

(4) 4




1[Option ID=10029]
2[Option ID=10030]
3[Option ID=10031]
4[Option ID=10032]

Sl. No.59
QBID:1020034

How is perimortem trauma distinguished from ante-morten injury?

(1)
(2)
(3)
(4)
(1) 1
(2) 2
3) 3
(4) 4

Antemortem trauma is more severe
Perimortem trauma is more severe
In antemortem injury, there is evidence of healing

In perimortem trauma more bleeding is there

UR-geg AEE 3R g -4 &fd ° F [J6g e s 27

(1)
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
(4) 4

YA T SUEATRS A T 2 3
Tf-geg IeaE suaTEa st T A 2
Tl -gd &ld § 1E 9 o A1e I a2

TH-geg A § wiaF e e 2|

1[Option ID=10033]
2[Option ID=10034]
3[Option ID=10035]
4[Option ID=10036]

Sl. No.60
QBID:1020035

The female cranium in comparison to the male is

(1)
(2)
(3)
(4)
(1)
(2)
(3)
(4)

A W N =

Smaller with more retreating forehead and more pronounced supra orbital ridges
Larger with more retreating forehead and more pronounced supra orbital ridges
Smaller with more rounded forehead and less pronounced supra orbital ridges

Larger with more rounded forehead and less pronounced supra orbital ridges




TiEel 1 F T8 i g 9 B E

(1)
(2)

(4)

(1) 1
(2) 2
(3) 3
(4) 4

T Fi T T e St T At UETEG ST S E S Ai9E = T
e Fi fom 7 wifu o=t Foe (Feme) afed suasa 991 3R e i FF|

1[Option ID=10037]
2[Option ID=10038]
3[Option ID=10039]
4[Option ID=10040]

Sl. No.61
QBID:1020036

Match List I with List 11

(A)
(B)
(C)
(D)

List [ List 11
Narcotics Iy LSD
Hallucinogen (ITy Alechol
Stimulant (IIT} Heroin
Depressant (IV) Cocaine

Choose the correct answer from the options given below :

(1) 1
(2) 2
3) 3
(4) 4

(A)-(I), (B)-(1ID), (C)-(11I), (D)-(IV)
(A)-(IV), (B)-(I1L), (C)-(D). (D)-(ID)
(A)-(ILI), (B)-(D), (C)-(IV), (D)-(1I)
(A)-(I), (B)-(ILD), (C)-(1T), (D)-(IV)




geft-1 % |y g1 1 faem $ifs .

a1 Tt 11
(A) wEHH () vAH S
(B) wifes (II) wwma (Ueshtaet)
() Fas= (IT) &
(D) I (IV) =hisha
et few mu feehedi & & WE I AT S HIOC ;

(1) (A)-(D), (B)(II), (C)-(ILL), (D)-(IV)
(2) (A)-(IV), (B)-(ID), (C)-(D), (D)-(1T)
(3) (A)-(I11), (B)-(1), (C)-(IV), (D)-(1I)
(4) (A)-(I), (B)-(ILI), (C)-(1D), (D)-(IV)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10041]

2[Option ID=10042]

3[Option ID=10043]
4[Option ID=10044]

Sl. No.62
QBID:1020037

Primary classification of fingerprints was given by

(1) Sir Edward Richard Henry (2) Jan Evangelista Purkynje
(3) Alphonse Bertillon (4) Sir Francis Galton

1)1

(2) 2

3) 3

(4) 4

. . AP Y | . )
SIS =1 MAas T Heird § 8 6 grn = = e

(1) o u=as f=s = (2) A I g
(3) IFEE @A (4) T FEE TeeA
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10045]
2[Option ID=10046]




3[Option ID=10047]
4[Option ID=10048]

Sl. No.63
QBID:1020038

Match List T with List IT

List I
(A) Ry
(B) pl
(C) R
(D) miz

List IT
(D HPLC
(IT) Mass Spectrometry (MS)
(ITIT) ISO-electric focusing (IEF)
(IV) TLC

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(IV). (C)-(III). (D)~(1I)
(2) (A)-(I). (B)«(IL). (C)-(III). (D)-(IV)
(3) (A)-(IV). (B)-(I). (C)-(II). (D)-(I1I)
(4) (A)-(IV). (B)-(III). (C)-(I). (D)~(ID)
(1) 1
(2) 2
(3) 3
(4) 4

=11 % = =11 =1 f5e =it

=1-I
(A) Ry
(B) pl
(C) Rt
(D) miz
4= fou U el § | "Rl 3 =99 Fire

(1) (A)-(I). (B)-(IV). (C)-(III), (D)-(II)
(2) (A)-(D). (B)-(II). (C)-(III). (D)-(IV)
(3) (A)-(IV). (B)-(I). (C)-(II). (D)-(I1I)
(4) (A)-(IV). (B)-(III). (C)-(I). (D)-(IL)

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10049]
2[Option ID=10050]

=111
(I) w=g d7 v =i

(I) =8 FEdl (v )
(IIT) =TEAT-3eiide® FIFRET (37E  0F)

(IV) 2t uet |t




3[Option ID=10051]
4[Option ID=10052]

Sl. No.64
QBID:1020039

Match List I with List 11

(A)
(B)
(C)
(D)

List I
Pyrolyzer
ATR
SEM

ICP

List I1
() EDX
Iy GC
(I1T) AES
(IV) FTIR

Choosze the correct answer from the options given below :

(1) (A)-(ID), (B)-(IV), (C)-(D), (D)-(I1L)
(2)  (A)-(IID, (B)-(D), (C)-(ID), (D)-(IV)
(3 (A)-(D), (B)-(ID), (C)-IID), (D)-(IV)
(4 (A)-(IV), (B)-(III), (C)-(IT), (D)-(T)
(1) 1
(2) 2
(3) 3
(4) 4
g1 % @y g1 %1 faem ifw
-1
(A) TSI
(B) ©d 3m
(C) w3
(D) s &t @
Hra feu mu fasedi 4 & g I w1 =R i .
(1) (A)-(ID), B)-(IV), (C)-(D), (D)-(T1T)
(20 (A)-(ID, (B)-(1), (C)-(ID), (D)-(IV)
(3 (A)-(D, (B)-(ID), (C)-(III), (D)-(IV)
(4 (A)-(IV), (B)-(I1D), (C)-(ID, (D)-(T)
(1) 1
(2) 2
(3) 3

(4) 4

-1
I 3w
(IT) = =t
(IIl) T$ua
(IV) % & 3% 3




1[Option ID=10053]
2[Option ID=10054]
3[Option ID=10055]
4[Option ID=10056]

Sl. No.65
QBID:1020040

“In a photochemical reaction each molecule of the reacting substance absorb a single photon
of radiation causing the reaction and is activated to form the produect”. This phenomenon is
called

(1) Lambert-Beer law (2) Grothus-Draper law

(3) Stork-Einstein law (4) Lambert's law

(1) 1

(2) 2

(3) 3

(4) 4

U THEE TEEEF A °, ARG i e A, A B ae G T B
T FAAT 7 3N A B 309 ST 21 39 9HEeAT T 99 FEd B 7

(1) - e (2) TemE-3w
(3) TR AN (4) F=e 71w
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10057]
2[Option ID=10058]
3[Option ID=10059]
4[Option ID=10060]

Sl. No.66
QBID:1020041

Arrange the following 1s correct sequence of steps involved 1n crime scene Investigation.

(A) Protect the crime scene
(B) Collect the evidence
(C) Search for the evidence

(D) Photography of the crime scene

Choose the correct answer from the options given below :

(1) (A). (B). (C). (D)
(2) (D). (C). (B). (&4)
(3) (A). (D). (C). (B)
(4) (B). (A). (D). (C)

(1) 1




(2) 2
(3) 3
(4) 4

frefeafiaa =mon 1 S 9241 T Fil SEEE m'g-;'”[ ",i"ﬂt_*l'l T fofae {

(A) g 579 F gEET T
(B)  H&d il UHET F
(C) = =i @ F () |

(D) 39 =2AT T4 i FemTH|

4= 120 U faFeT O WE 39 R 999 I
(1) (A). (B). (C). (D)
(2) (D). (C), (B). (A)
(3) (A). (D). (C). (B)
(4) (B). (A). (D). (C)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10061]
2[Option ID=10062]

3[Option ID=10063]
4[Option ID=10064]

Sl. No.67
QBID:1020042
Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.
Assertion (A):  The class characteristics help in providing a lead evidence only.
Reason (R) : Class characteristics are able to generate information which is highly

probable to connect the victim, crime scene and the perpetrator.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) is false

(4) (A) 15 false but (B) 1s true




(4) 4

F= =1 FoF 5u e 2 wF A (Assertion (A)) F ¥4 ¥ fAfEa 2 |1 570 0% FEW (Reasons (R))

FETH
AR (A) - T - ATIATANF 01 H Fded 3@ A& T5H i H Bl HeAdt 2
Frm (R) : - AT T ° UHl g I5Yd Bl £ T disa =ahh 9 sy w2 | s

U AT S O T TR0 A U A9 2l 2

ST FE F A |, 74 B e 3 3w I = i

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

(A) #1% (R) 51 Te3 7 #1 (R), (A) Fi =&l =amen 2
(A) 3R (R) 51 703 2, =03 (R), (A) i T =wen 74 2

(A) T 2, &9 (R) 3193 7

(A) T "F" A (R) o9 #

1[Option ID=10065]
2[Option ID=10066]
3[Option ID=10067]
4[Option ID=10068]

Sl. No.68
QBID:1020043

Match List I with List 11

(A)

(B)
(C)
(D)

List 1 List II

Comparison microscope (I} Sequence of intersecting strokes in

handwriting examination

Fluorescence microscope (II) Comparison of fired bullets
Stereoscopic microscope (IIT) Synthetic fibres
Polarizing microscope (IV) Y-Chromatin

Choose the correct answer from the options given below :

(A)-(I), (B)-(IV), (C)-(I), (D)-(11D)
(A)-(ID), (B)-(ILI), (C)-(IV), (D)-(I)
(A)-(ID), (B)-(I), (C)-(IV), (D)-(11T)
(A)-(D), (B)-(ID), (C)-(I1D), (D)-(IV)




1) 1
(2) 2
(3) 3
(4) 4

-1 =0 get-I1 =t e Fife

-1
(A) g gEmgEi
(B) wiadie geagei
(C) Tttt gemmfi
(D) gt GEmee
4 fou U fawedl | O w2 I w0 =99 i

(1) (A)-(ID. (B)-(TW). (C)-(D), (D)-(I1ID)
(2) (A)-(ID). (B)-(D). (C)-(IV). (D)-(D)
(3) (A)-(I1). (B)-(D). (C)-(IV), (D)-(11I)
(4) {(A)-(1). (B)-(ID). (C)-(IIT). (DH-(IV)

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=10069]
2[Option ID=10070]
3[Option ID=10071]
4[Option ID=10072]

THI-11
(I) weaeiE THE § AR 520 1
(IT) ﬂﬁ?ﬁmﬁaﬂm
(I[I) =TT 131

IV) Y-tz (am-ans)

Sl. No.69
QBID:1020044

Which drug is extensively used as “date rape"?

(1) Phenothiazines (2)
(3) Paracetamaol (4)
(1) 1
(2) 2
(3) 3

(4) 4

Morphin

Flunitrazepam




frferfias o @ forn s =1 sfus wam e tw S e § fora wman 27

(1)  arfemEmsg (2) iR
(3) e (4) IfRET™

1)1
(2) 2
3) 3
4) 4
1[Option ID=10073]
2[Option ID=10074]

3[Option ID=10075]
4[Option ID=10076]

Sl. No.70
QBID:1020045

Given below are two statements :

Statement [ :  Hair is an important evidence to establish the link between suspect and
victim and with the scene of crime.

Statement 11 :  Human hair cannot be differentiated from a pig hair.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 11 are false

(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement I1 is true

(1) 1

(2) 2

(3) 3

(4) 4

fi= & %y= few Mo E

U9 1: =@ (Fw) dfey smdft, fifeq safe 3 sow =e & ga i 590 w=fim s@ % oo

HevEqul |iEd g gl

FeH [ "Fa & &9 31 908 & 9« § fave 781 fem o asan 21
ITUF FUA = A °, 9= fou mu et 4 3 o 3 =1 =39 $ifsu -

(1)  weE I3 [ EH g 2
(2) e I3 I g 3/ 3
(3)  ®Y 18 8, AfT w2 11 o9 2
(4) Y [ 379 B, ofer wem [T aeg 2

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=10077]
2[Option ID=10078]
3[Option ID=10079]
4[Option ID=10080]

Sl. No.71
QBID:1020046

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Eeaszon R.

Assertion (A):  Drinking methyl alcohol causes death.

Reason (R) : Methyl alcohol metabolizes 1n body and 1s converted into formaldehvde.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 138 NOT the correct explanation of (A)
(3) (A) 15 true but (R) 1s false

(4) (A) 1= false but (R) 1s true

(1)
(2)
(3)
(4)

A W N =

9= 71 F9 U 0 2w A (Assertion (A)) F =9 4 TolEga 2 a1 THT 34 + #00 (Reason (R))

FETH
AR (A) ; e TelEe 1H T gog FiE 2T 2
F (R) : foomeer TeRET T IHR § IUE A1 £ AN 9% FeEnEES § gunEtd 7 S A

SUF FH F AEF |, 5= 50 T fTwew § ° 7E 3 =997 i

(1) (A) #F (R)ZF1 7 & #7 (R), (A) F 781 =weT 2

(2) (A =i (R) 5H T F, A (R), (A) 1 o =wem 7 2
(3) (A= E, = (R) w199 7

4 (A ¥EE R, FF (R)FI R

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=10081]
2[Option ID=10082]
3[Option ID=10083]
4[Option ID=10084]

Sl. No.72
QBID:1020047

Given below are two statements :
Statement | :  All aldehydes and ketones gives iodoform reaction.
Statement 11 :  Glucose gives iodoform reaction.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement | and Statement I1 are false
(3) Statement I is true but Statement II is false

(4) Statement [ is false but Statement 11 is true

FoH [: O Uicsaes AR RiEE O AEEEE SHEE 30904 26l 2

Fo I1:  To[hisl § AESIHH ATaGRT 300 2l 2|
STE FYA F ATAF H, H9 50 T FEe 8 O Wl 39 #9949 it

(1) [ [ 37 [[ =41 99 2

(2) FE I #AR g 59 2

(3) w1 Oed 2, oA Fu I 5199 2

(4) w1 318 2, ST 5o I O 2
(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=10085]
2[Option ID=10086]
3[Option ID=10087]
4[Option ID=10088]

Sl. No.73
QBID:1020048

Given below are two statements :
Statement [ . Ricin is a type of metal toxin.

Statement II :  Ricin is capable of stoping transcription.,
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement [ and Statement 1T are true
(2) Both Statement [ and Statement 1T are falze
(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement 11 is true

(1) 1
(2) 2
(3) 3
(4) 4

E I RARC e R AU
Fq 1: e eifeas snfaw =1 oE 2

FAI0:  Tifem oo =1 79 5 399 2|
IR FE F AT H, A WU T @ § H HE 39 H =99 S

(1)  =FFA 3R IH a3 2
(2)  FE IR [ 2T 575 3
(3) == I@ea 2, wie ®yA I 3180 7

(4)  Fu9 1 95 2, i %o [ o0 2

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=10089]
2[Option ID=10090]
3[Option ID=10091]
4[Option ID=10092]

Sl. No.74
QBID:1020049

Match List I with List I

List [ List IT
(A) Mercury n W
(B) Tungsten (IIy Au
() Silver (IIT) Ag
(D) Gold (IV) Hg

Choose the correct answer from the options given below :

(1) (A)-(IID), (B)-(II), (C)-(D), (D)-(IV)
(2) (A)-(IV), (B)-(I), (C)-(I1L), (D)-(II)
(3) (A)-(I), (B)-(ILL), (C)~(LD), (D)-(IV)
(4) (A)-(1D), (B)-(IV), (C)-(T), (D)-(11)

(1) 1
(2) 2
3) 3
(4) 4
gqeft-1 % |y gft-11 = faerm Hifsm
- gfi-11
(A) W M W
(B) @meA (I) Au
(C) =i (II) Ag
(D) &r (IV) Hg

fra o mu faedi | @ vt 3w w1 = Hifsw

(1) (A)-(I11), (B)-(1I), (C)-(D), (D)-(IV)
(2) (A)-(IV), (B)-(I), (C)-(11L), (D)-(1I)
(3) (A)-(D), (B)-(I1D), (C)-(1D), (D)-(IV)
(4) (A)-(IT), (B)-(IV), (C)-(1), (D)-(11T)




(4) 4

1[Option ID=10093]
2[Option ID=10094]
3[Option ID=10095]
4[Option ID=10096]

Sl. No.75
QBID:1020050

Match List I with List I1

List I

(A) = block elements
(B} pblock elements
() dblock elements
(D) fblock elements

List 11
(Il Na, K, Mg, Ca
(II) Ce. Yb, Gd, Nd
(IIT) B, C, N, He
(IV) Se, Ti, V,Cr

Choose the correct answer from the options given below :

(1) (A)-(I1D), (B)-(IV), (C)-(11), (D)-(D)
(2) (A)-(IV), (B)-(I11), (C)-(11), (D)-(D)
(3) (A)-(I1D), (B)-(I), (C)-(ID), (D)-(IV)
(4) (A)-(D), (B)-(ILL), (C)-(IV), (D)-(ID)

-~
(6]
N
A W N =

geft-1 % |y g1 = faem i .

g1
(A) s@E & dd
(B) pWEs & dd
(C) d@s *d=

(D) f@E % a4

fr2 feu mu fawedi # @ @t 3w w1 =9 Hifaw

(1) (A)-IID, (B)-(IV), (C)-(II), (D)-(@)
(2)  (A)-IV), (B)-(), (C)-(II), (D)-@)
(3 (AL, (B)-(D), (C)-(ID), (D)-(IV)
(4 (A, (B)ID), (C)-(IV), (D)-(1L)

(1) 1
(2) 2

- 11
(I Na, K, Mg, Ca
(I) Ce, Yb, Gd, Nd
(IIT) B, C. N. He
(IV) Se, Ti, V,Cr




(3) 3
(4) 4

1[Option ID=10097]
2[Option ID=10098]
3[Option ID=10099]
4[Option ID=10100]

Sl. No.76
QBID:1020051

The ahility to establish the exact where abouts of an item of evidence and under whose

control it was since its collection upto the courtroom is known as :

(1) Chain of command (2) Continuity of investigation
(3) Chain of custody (4) Evidence record circle

(1)
(2)
(3)
(4)
feredt wem & we A s Al wfia e & g i GEen & T 8 30 e e i ge
& 9 $ Tramaty | 77 o e 8w, o wfafe =5 feifea 9 9 feoss s & g & st
27

(1) =1 3% HHE (2) A= = Had

A W N =

(3)  sAfinemn-srEen (4) weg e =
(1)
(2)
(3)
(4)

A W N =

1[Option ID=10101]
2[Option ID=10102]
3[Option ID=10103]
4[Option ID=10104]

Sl. No.77
QBID:1020052

Indented writing, if not visible to the naked eve, may be recovered by an instrument called

(1) Electrostatic Detection Appartus (2) Comparative microscope

(3) Raman Spectroscope (4) Infra red spectrophotometer
(1) 1

(2) 2

3) 3

(4) 4




Tdfd =EF, A% el A ¥ O JA A Al 36 FeEd ¥ ° e 3 S geEa ¥ O g
(g2 Tt 1 Eohelt 2 7

P - -

= feoaem s (2)  FOR{ZG OEHEY

(3)  THW TEREEN (4) THI-15 TFZHEHET

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10105]
2[Option ID=10106]

3[Option ID=10107]
4[Option ID=10108]

Sl. No.78
QBID:1020053

Which molecule will show shortest carbon hydrogen bond length?

(1) Ethane (2) Ethene
(3) Methane (4) Ethyne

(1) 1
(2) 2
(3) 3
(4) 4

frferfiaa & & form o & e esgem 9y i o= =Ean el &nfte

(1) wE (2) 3=
(3) Em (1) U

1)1
(2) 2
3) 3
(4) 4
1[Option ID=10109]
2[Option ID=10110]

3[Option ID=10111]
4[Option ID=10112]

Sl. No.79
QBID:1020054




Match List I with List 11

(A)
(B)
(C)
(D)

List I
Absorption
Ingestion
Inhalation

Injection

List IT
(Il Mouth
(II) Respiratory system
(III) Entry into body through needle

(IV)y Mucus memhbrane

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
1) 1
(2) 2
(3) 3
(4) 4

(A)-(D), (B)-(IV), (C)-(III), (D)-(1T)
(A)-(ID), (B)-(ILI), (C)-(IV), (D)-(I)
(A)-(IL1), (B)-(1I), (C)-(I), (D)-(IV)
(A)-(IV), (B)-(I), (C)-(ID), (D)-(111)

gft-1% | geft-11 =1 firem Hifsr -

(A)
(B)
(C)
(D)

Hra feu 7o faeedt ® @ @F I w1 =Ea il

(4)

(1) 1
(2) 2
(3) 3
(4) 4

g1

FHE9Toy
FerEm
FevaE

F AT

(A)-(D), (B)-(IV), (C)-(I1L), (D)-(IL)
(A)-(11), (B)-(III), (C)-(IV), (D)-(D)
(A)-(11D), (B)-(1I), (C)-(D), (D)-(IV)
(A)-(IV), (B)-(1). (C)-(11), (D)-(11I)

1[Option ID=10113]
2[Option ID=10114]
3[Option ID=10115]
4[Option ID=10116]

11
O T&
(I1) vae= 73
(I1T) 43 gro o 8§ v
(Iv) wersn gt

Sl. No.80




QBID:1020055

Identify the correct sequence of eruption of milk teeth in humans

(A)
(B)
(C)
(D)
(E)

Canine

Second molar
First molar
Central incisor

Lateral incisor

Choose the correct answer from the options given below :

(4)

(1) 1
(2) 2
(3) 3
(4) 4

(E), (B), (D), (C), (A)
(C). (A), (B), (D), (E)
(E). (B), (D), (A). (C)
(D), (E). (A), (C), (B)

e § gH-gid % 9 1 el s Tt i

(A) @&

B)  fadfta ==

(C)  wum =&

(D) W Haw

(B)  ifed= Has

e few mu fasmewi § & HEl I H sifsm -
(1) (E), (B), (D), (C), (A)
(2) (C), (A), (B), (D), (E)
(3) (E), (B), (D), (A), (C)
(4) (D), (E), (A), (C), (B)
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10117]
2[Option ID=10118]
3[Option ID=10119]
4[Option ID=10120]




Sl. No.81
QBID:1020056

Match List I with List I1

List I List I1
(A) Alan Curry (I} Toxicology
(B) Karl Landsteiner (I} DNA profiling
(C)  Alec Jeffereys (I} Serology
(Dy W.M. Krogman (IV) Forensic anthropology

Choose the correct answer from the options given below :

(1) (A)-(I1D), (B)-(D), (C)-(ID), (D)-(IV)
(2) (A)-(D), (B)-(IV), (C)-(I1L), (D)-(IT)
(3) (A)-(D, (B)-(I1D), (C)-(1D), (D)-(IV)
(4) (A)-(I), (B)-(I1I), (C)-(IV), (D)-(T)

(1) 1
(2) 2
(3) 3
(4) 4

geft-1 % Ty 11 &1 e it

g1 TAi-11
(A) T i (1) fog fomm
(B) et St (I) DNA uife
(C) Ueish AHAE (111) e s
(D) S&eg 08 A (IV) =rfiss aeesfadhs

H feu mu fasmedt F @ gt I w1 999 Fifsw .

(1) (A)-(IID), (B)-(I), (C)-(II), (D)-(IV)
(2) (A)-(D), (B)-(IV), (C)-(I1L), (D)-(IL)

(3) (A)-(I), (B)-(11L), (C)-(II), (D)-(IV)
(4) (A)-(1), (B)-(III), (C)-(IV), (D)-(I)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10121]
2[Option ID=10122]

3[Option ID=10123]
4[Option ID=10124]




Sl. No.82
QBID:1020057

Given below are two statements :

Statement | :  Ewvery contact leaves traces.
Statement I1 : Physical evidence can connect/link the suspect with the scene of
occurance,

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement 11 are true
(2) Both Statement | and Statement II are false
(3) Statement [ is true but Statement II is false

(4) Statement [ is false but Statement I1 is true
(1) 1
(2) 2
(3) 3
(4) 4

#eH [ B g9 e Sea 2

wed [1:  fifoss arez, dfes =1 g9e & 57 4 A /fas & g 2
ITUT FeA 6 e |, = e o e d @ adt I e 53w Hife

(1) e 13 11 gH | 8
(2) WY I3 I EH 3 2
(3) wuA [ H 2, dfh wue I 319 2

()  wud [ 3@ 2, cifeea wue [T o 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10125]
2[Option ID=10126]

3[Option ID=10127]
4[Option ID=10128]

Sl. No.83
QBID:1020058




Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Asgertion (A):  Algor mortis are the post mortem changes that cause a body to lose beat.
Reason (R) : The rate of heat loss is influenced by factors such as the location and size of

the body, the victims clothing and weather conditions.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

i(4) (A) is false but (R) 1s true
(1)
(2)
(3)
(4)

A W N =

H= 71 o fou m  : wF wfwFeA (Assertion (A)) % ®9 ¥ fAf@s 2 71 550 395 W (Reason (R))

FEQH
AR (A) ¥9 | TR HEEE % 2 2HaTel UHadd & T R0 TR i 39 OaTY B A 2
FEM (R) : T & il T FOTI FEH T THIEG 7O 2 q97 TR A AR A, disd

I FA F AT §, A= 50 T ST 6 ° HE 39 R =9 i

(1) () ¥R R) 5 @ 2 A1 (R), (A) F =21 =we 2
(2 (A) R (R) oA & £, S (R), (A) F1 =4 sawen 76 2

(3) (A) e 2, S (R) #1973 2

(4  (A) 384 2, @A (R) 94 7

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10129]
2[Option ID=10130]

3[Option ID=10131]
4[Option ID=10132]




Sl. No.84
QBID:1020059

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A):  In crime scene examination, photography, plays a very vital role.
Reason (R) : Human eyves may skip an observation but not the camera if used properly.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(1) (A) is false but (R) is true

)
W
N
A W N =

4= 71 ®2H 150 U ;U YA (Assertion (A)) = ®U H fefigd ® A T 75 %1V (Reason (R))

FETH
ATFEE (A) SIS 57 1 T | BT Uh a5d qEeael g e 2

T =T

I9F FUA F A °, A9 50 T faweq § 9 98 3w 99 fifee

(1) (A) 3t (R) 7 @ 3 31 (R). (A) #1 981 ==m= 2
(2) (A 3 (R) 51 94 B, =669 (R), (A) =l T8 =ame 1w 7
(3) (A) = 2, S 4 (R) 3193 2

(4)  (A) 3|9 2, 94 (R) 94 7

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=10133]
2[Option ID=10134]
3[Option ID=10135]
4[Option ID=10136]

Sl. No.85
QBID:1020060

Given below are two statements :

Statement [ : In reverse phase chromatography mobile phase is polar.

Statement [1 ¢ In reverse phase chromatography stationary phase is polar.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement [ and Statement II are correct
(2) Both Statement [ and Statement Il are incorrect
(3) Statement [ is correct but Statement I is incorrect
(4) Statement [ is incorrect but Statement I1 18 correct
(1) 1
(2) 2
(3) 3
(4) 4

= 71w fzu o #

T [: =g s & v e e e A 2

Fo I1:  =Iordl a5 § 9 i ffas staen g&dm =26t 2

r B N = T i G DR, - i
39T FYH = Al H, HH= 50 T =FFhea1 § o H?rl‘f'&r-ﬁ' I I R =TT EJEL Lo

(1) =9 I 3F Il5H o &

(2)  FoE I AR II=H 3799 7

ke

(3) = 1= 7, witha wuA 1 335

(4)  FyF [ 19 2, o ®94 [[ 94 7
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=10137]




2[Option ID=10138]
3[Option ID=10139]
4[Option ID=10140]

Sl. No.86
QBID:1020061

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A) : Examination of fire burn pattern is a critical aspect of arson investigation.
Reason (R) : Fire burn pattern provides information about origin and direction of fire.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
(1) 1
(2) 2
3) 3
(4) 4

9 2 wyq feu mu € . v wfisua (Assertion (A)) %wn%ﬁaﬁ%ﬁr@umw (Reasons
R)FETH :

sAfiRe (A) - #fy grg wfoes i often smed A= w1 wifas 9@ 2
HH (R) : w1t gre wfeea rf it safa it fom &t g 2 21

IV HYF = Ak 4, = Gu mu famadt 8 4 oft a3 = 979 fifse

() (&) 3R (R) 3 7 § 3 (R), (A) F 7 =ren 2
(2 (&) R) I T E, d@fF R), (&) F T =TEn T 2
(3) (A TS 2, A (R) 39 2
(1) (A FEE R, Af R)FE R
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10141]
2[Option ID=10142]

3[Option ID=10143]
4[Option ID=10144]

Sl. No.87
QBID:1020062




Which type of isomerism is exhibited by chiral compounds?

(1) Linkage Isomerism (2) Coordination Isomerism

(3) Optical Isomerism (4) Solvate Isomerism

(1) 1

(2) 2

(3) 3

(4) 4

“Thrgtel Gifireh" fohg e =l FaTETEal gl 27

(1) e guEdEa (2) TH=IA GHEEEE]

(3) WIS GETEEE (4) foemrs G TuEETEdr

(1)
(2)
(3)
(4)

A W N =

1[Option ID=10145]
2[Option ID=10146]
3[Option ID=10147]
4[Option ID=10148]

Sl. No.88
QBID:1020063

Match List [ with List 11

List I List IT
(A) Polymerase chain reaction (I} Restriction enzyme
By RFLP (II) Human identification database
(C) CODIS (III) DNA quantification
(D)  Picogreen (IV) Tagq DNA polymerase

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(I1D), (C)-(IV), (D)-(IL)
(2) (A)-(IV), (B)-(D), (C)-(IT), (D)-(11I)
(3) (A)-(IID), (B)-(D), (C)-(IV), (D)-(II)
(4) (A)-(II), (B)-(IV), (C)-(111), (D)-(T)




T=1-1 % =1 g=i-11 1 5e =it

g1
(A) TiHATHE JEETEG T

(B) RFLP

(Cy CODIsS

[l

(D) o=

-1
(I) wfAeg-z-=2m
(II) THET-T==9H ATHS-FE

(IIT) DNA 9THT H1H

(IV) Tag DNA @z

49 5 v e ¥ ° H9A I w99 i

(1) (A)-(T). (B)-(1II). (C)-(IV). (D)-(1IT}
(2) (A)-(IV). (B)-(I). (C)-(II). (D)-(11I)
(3) (A)-(IIT). (B)-(I}. (O)-(IV), (D)-(IT)
(4) (A)-(II). (B)-(IV). (C)-(III). (D)-(I)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10149]
2[Option ID=10150]
3[Option ID=10151]
4[Option ID=10152]

Sl. No.89
QBID:1020064

Match List I with List 11

List I
(A)
(B)
(C)

(D)

Spinal poison
Cardiac poison
Phyto-Toxin

Non volatile organic poison

List II
(1)
(ID)
(IIT) Abrin

Digitalis

Mandrax

(IV) Nux vomica

Choose the correct answer from the options given below :

(1) (A)-D), (B)-(ID), (C)-(ILL), (D)-(IV)
(2) (AL, (B)-(IV), (C)-(II), (D)-@)
(3)  (A)-AV), (B)-(D), (C)-(I1I), (D)-(T)
(4)  (A)-(D), (B)-(IV), (C)-(D), (D)-(11T)

(1) 1




(2) 2

3) 3
(4) 4
g1 % @y gt-11 &1 e i
gefi-1 - 11

(A) #ece faw 1 fefsefea
(B) =g (11 #Hisw
(C) grEu-a7fem (1) wfsm
(D) Fafad sEts fag (IV) =5 =tftrn

Hra feu mu feepedt & @ @F I w1 == i

(1) (A)-(D), (B)-(1I), (C)-(I1I), (D)-(IV)
(2) (A)-(I1D), (B)-(IV), (C)-(11), (D)-(1)
(3) (A)-(IV), (B)-(1). (C)-(I1L), (D)-(IL)
(4) (A)-(ID), (B)-(IV), (C)-(I), (D)-(11I)

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10153]

2[Option ID=10154]

3[Option ID=10155]
4[Option ID=10156]

Sl. No.90
QBID:1020065

(Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R,

Assertion (A) :  Dragendorffs reagent reacts with alkaloids and benzoidazepines and give
orange spots.

Reason (R) : Dragendorffs reagent contains hismuth subnitrate, Acetic acid and

potassium iodide,
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

i(4) (A) is false but (R) is true




(1) 1
(2) 2
(3) 3
(4) 4

E 1 AN 7t i L e e e e (Assertion (A) %+ =0 | Teffiga & a1 7aa 304 F0 (Reazons (R))

FETH

HEFIA (A) TS AHFHT F UsheSS N SASESEH ® "1 AWET w6l 2 ST 59
TR AT T % aeA A w5 2

Fr (R) : STSTE % ATTHAT § oy 99 41522, UHied 30 3 TEEE AMEEEs AqH

'.'I'[_;i.:l

IUUF FUA F ATAE 4, A9 70 T Fwed § 8§ "E I #1999 i

(1)  (A) 317 (R) =1 @7 311 (R), (A) 7 @ = 2

(2)  (A) FT(R) T T 7, A (R), (A) i wE = a6 2
(3) (A Te B, @A (R) 279 7

4) (A ¥ma R, A (R)9A 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10157]
2[Option ID=10158]

3[Option ID=10159]
4[Option ID=10160]

Sl. No.91
QBID:1020066




Given below are two statements :

Statement I :  Daffusion of oxvgen at the tissue level 1s affected by carbon monoxide.

phosgene and cyanides.

Statement II :  Curare 1s a conditions where diffusion of oxyvgen 1z affected at tissue

level.
In the hight of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I is false but Statement II 1s true
(1) 1
(2) 2
(3) 3
(4) 4

= o1 e far T E

FA 1:  FaF T W AFEEE F A wEE GRS, B S e ° TiEd w5 2
Fo I1: 97 UHl 33E5 (390) 7 T8 SoF T WA H EerEE 2 R

. % e g RS o 5 A
FEHF FHIA =6 ATl H, = 158 T T9Hedl § H "9 394 30 =l =41 FIET, :

(1) FyA [ 3 L= T8 2
(2) FoA 1 5 [L 5 7T &
(3) FE ITH 2, wifed FoF I 7ed 2

(4) o I7ed 7, S0 A [ He 7

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=10161]




2[Option ID=10162]
3[Option ID=10163]
4[Option ID=10164]

Sl. No.92
QBID:1020067

Given below are two statements :
Statement | :  Myoglobin-0Oz dissociation kineties follows hyperbolic curve,
Statement 11 :  Haemoglobin-0: dissociation kinetics follow sigmoidal curve (S-Shape)

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true
(2) Both Statement [ and Statement I1 are false
(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement I1 1s true

(1) 1
(2) 2
(3) 3
(4) 4

= =1 FeF 2o o E

FA 1:  HEFEASA-Oz [T ApTiasl 8 Afquaei s 9% H1 HEm =@ 2|

Fo I1:  FETAlsH-Os [a9=m soprasht 1§ feandl 9 (S-w1mr) F1 =i 2@ 2
IE FYA F A 5, A9 B T fEwe § O 58 39 F =99 hie

(1) =@ I [ &6 7
(2) wA IR (L2 Ted 2

(3)  Fom [&d 2, o %9 I 7Teia 2

(4) A 1o 2, ot F99 [ T8 2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10165]




2[Option ID=10166]
3[Option ID=10167]
4[Option ID=10168]

Sl. No.93
QBID:1020068

Which of the following helps to determine the time since approximate death?
(A) Algor mortis

iB) Amount of food in the stomach

(C) Amount of strontium in the ocular fluid

() Rigor mortis

(E) Pericardial fluid

Choose the most appropriate answer from the options given below :

(1) (A, (C), (E) only
(2)  (A). (C), (D) only
(3 (A, (B), (D) only
(4)  (C). (D), (E) only

-~
W
Nt
A W N =

Frmafeferm # # 1 g % w (cvmsen) 7 Fofon 5 e w47

(A) UFE mIem

(B) T2 H 9 =i A

(C) =7 7= § T2REE =i =
(D) T mitem

(E)  diiisas @

Hr fou U fawedl § ° weE 3UgE I A1 959 i

(1) == (A). (C). (B)
(2)  #ae (A). (C). (D)
(3) a4 (A), (B). (D)

(4)  =Faa (C). (D). (E)




(2) 2
(3) 3
(4) 4
1[Option ID=10169]
2[Option ID=10170]

3[Option ID=10171]
4[Option ID=10172]

Sl. No.94
QBID:1020069

Which of the following are essential requirements to commit forgery of signature by
simulation?
(1) Model signature and carbon paper (2) Model signature and light source
(3) Model signature only (4) Model signature and practice
1) 1
(2) 2
3) 3
4) 4
FAFM g EEMER 1 e FiE w6 % fore sfar s §
(1)  Freet semem afft wEF W (2) freel seamam 3in w=e % @@
(3)  hae freet axmaw (4) Toreel weaam i svams
(1)
(2)
(3)
(4)

A W N =

1[Option ID=10173]
2[Option ID=10174]
3[Option ID=10175]
4[Option ID=10176]

Sl. No.95
QBID:1020070

Identify the odd one out in the followings

(1) Dispersion (2) Reflection
(3) Refraction (4) Distortion
(1) 1
(2) 2
(3) 3
(4) 4

frrifera & @ wwe ve faeifea $ifm

(1)  oftzgm (2) rEd

(3)  3TEdA (4) faemm
(1) 1

(2) 2
(3) 3




(4) 4

1[Option ID=10177]
2[Option ID=10178]
3[Option ID=10179]
4[Option ID=10180]

Sl. No.96
QBID:1020071

Which of the followings is a vibrational spectroscopy technique?

(1) Atomic absorption spectroscopy (2) Emission spectroscopy

(3) Infra-red spectroscopy (4) Mass spectrometry

(1) 1
(2) 2
(3) 3
(4) 4
forifera & & 1 TieAwH! SragHestt dwA 2
(1)  weerfoeash a9 Syaga gl (2) e SrgHEs
(3) AT SHagAEH (4) zEmmA (fis) Segaegef
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10181]
2[Option ID=10182]

3[Option ID=10183]
4[Option ID=10184]

Sl. No.97
QBID:1020072

When two sets of signatures super impose exactly one upon the other, then which of the
following type of the forgery it will be,

(1) Simulated forgery (2) Traced forgery

(3) Free hand forgery (4) Forgery be impersonation
(1) 1
(2) 2
(3) 3
(4) 4

W EEAA H 59 GY=Y % UH gHU W F=ANfE g @ at 3@ g # frefea § | fem ywn &
Feta (Serarst) gt

(1)  37Hd Bt (2) amfEa (stfea) seamn
(3)  Hhee Hetal (4) Esft HerE

(1) 1

(2) 2

(3) 3

(4) 4




1[Option ID=10185]
2[Option ID=10186]
3[Option ID=10187]
4[Option ID=10188]

Sl. No.98
QBID:1020073

To decipher obliterated writings, which of the following instrument is used:

(1) ESDA (2) VSC

(3) Comparison microscope (4) Stereomicroscope

(1) 1
(2) 2

3) 3

(4) 4

faerfire e =t 50 ® % warend Feifea 5 @ < @ 37w ygw B 27
() 3wmdiy (2) & um i

(3)  qemTHS (qeaeril) geweat (4) whfe garest

(1) 1
(2) 2

(3) 3

4) 4

1[Option ID=10189]
2[Option ID=10190]

3[Option ID=10191]
4[Option ID=10192]

Sl. No.99
QBID:1020074

Match List I with List 11 :

List I List II
(A) Ram Rod (Il Fired bullet
(B) Chamber marks (II) Shot gun
(C) Rifling marks (III) Fired Cartridge
(D)  Choking of barrel (IV) Muzzle loader

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(ID). (C)-(T), (D)-(11D)
(2) (A)-(I1D), (B)-(I), (C)-(II), (D)-(IV)
(3) (A)-(IV), (B)-(I1D), (C)-(D), (D)-(1D)
(4) (A)-(ID), (B)-(ILI), (C)-(I), (D)-(IV)

(1) 1

(2) 2

3) 3

(4) 4




g1 % @y g=t-11 = foem i -

il g1
(A) W= (n = & el
(B) ¥ fom (1) e ™ (9g%)
(C) wsfie fae (I11) &t &8 g
(D) =ifET FHE &= (IV) TeT@ Wi (Hoe @ret)

fi2 fou 7o fasedt 7 & v 3w +1 =5 i

(1) (A)-(IV), (B)-(ID), (C)-(I), (D)-(11)
(2) (A)-(IID), (B)-(I), (C)-(II), (D)-(IV)
(3) (A)-(IV), (B)-(I1D), (C)-(D), (D)-(ID)
(4) (A)-(ID), (B)-(ILI), (C)-(D), (D)-(IV)

1)1
(2) 2
3) 3
(4) 4
1[Option ID=10193]
2[Option ID=10194]

3[Option ID=10195]
4[Option ID=10196]

Sl. No.100
QBID:1020075

Arrange the correct steps involved in organic extraction method of DNA isolation

(A) Extraction with organic solvent
i(B) Quantification

(C) Cell lysis and protein digestion
(D) DNA precipitation

(E) Drying and alcohol removal

Choose the correct answer from the options given below :

(1) (C), (A), (D), (E), (B)
(2)  (B), (A), (C), (D), (E)
(3)  (E). (A). (C). (B). (D)
(4) (D), (E), (A), (B), (C)
(1)
(2)
(3)
(4)

A W N =




DNA feirs it e Fresio fafy 3§ oo s @ =om =6t 58 %0 o)

(n) s faemas & g Fremdn
(B)  ofmE

(C)  =ifer sroaes s widm O
(D)  DNA srasmm

(E)  g@Em 3R tehiee & fresma

Hr feu e fashedt § @ w1t 3w %1 99 Fifs
(1) (C), (A), (D), (E), (B)
(2) (B), (A), (C), (D), (E)
(3) (E), (A), (C), (B), (D)
(4) (D), (E). (A), (B). (C)
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10197]

2[Option ID=10198]

3[Option ID=10199]
4[Option ID=10200]




